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English and Quantitative Reasoning

Which statement 1s grammatically correct?

(1) He have tried to control his anger despite bully nature
(2) He had tried to control his anger despite bully nature
(3) He would tried to control his anger despite bully nature

(4) He could tried to control his anger despite bully nature

Harsh 1s jovial. Jovial in this context means:
(1) Bully

(2) Pessimistic

(3) Optimistic

(4) Angersome

DIRECTIONS (Qs. 3) : Choose the word that best defines the

given phrase.

Building castles 1n the air
(1) Making impossible plans
(2) Making tall promises
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(3) Bulding skyscrapers

(4) Structures without strong foundation

DIRECTIONS (Qs. 4) : Choose the word which is nearly

opposite in meaning of the given word.

Cajole

(1) Nestle
(2) Secede
(3) Bully
(4) Moisten

DIRECTIONS (Qs. 5-7) : Pick out the most effective word
from the given words to fill in the blank to make the sentence

meaningfully complete.

His actions had pain and suffering on thousands of

people.

(1) affected
(2) 1mposed
(3) nflicted
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(4) deplored

The Government will all resources to fight poverty.

(1) collect
(2) explont
(3) harness

(4) muster

The children crackers to celebrate the victory of their team.
(1) burst

(2) fired

(3) shot

(4) released

DIRECTIONS (Qs. 8-10) : Read the following passage

carefully and answer the questions given below it.

Recently, a newspaper article mourned the total disappearance
of the common house sparrow. This was a comment on the

city's perceptible move towards edging out the flora and fauna
of the city. In the rapid urbanization, multi-storied apartments
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grew and large scale felling of trees became necessary. Last
week, however, seven pairs of these sparrows were spotted 1n a
suburb. Possibly the greenery of this place has created a new
habitat for these birds which like their proximity to human
beings, and have made a comeback. A systematic development
of trees and shrubs all over the city could woo the absentee

house sparrow to our midst.

In the passage the term "urbanisation" has been used to refer to
(1) the destruction of the greenery 1n the city

(2) construction of concrete structures on a large scale

(3) achange over from the rural life to the city life

(4) the movement of people from villages to cities

The phrase "absentee house sparrow" refers to

(1) the sparrow that makes infrequent visits

(2) the sparrow that has forgotten its habitat

(3) the sparrow that has gone away from the urban areas

(4) the sparrow that has become extinct 190.
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10. According to the passage, the birds have made a comeback to

1L

JIPMER

the suburb because they

(1) have been hunted down by the village people
(2) Love to be amidst human beings

(3) get tood only where human beings live

(4) they have been deliberately brought back by biologists.

M 1s taller than Q and L Q 1s only taller than N. L 1s taller than
Q but shorter than M. Then who 1s the tallest and the shortest?
(1) L&Q

(2) Q&N

(3) M&N

(4) None of these

[f HYDROGEN is coded as YHCQPHFM. Then DRY HEN
will be coded as what

(1) RDXGFO

(2) DRXGFO

(3) ODRXGF

(4) None of these
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Bateson sees a gentleman and says "He 1s my brother's
daughter's father”. Then what 1s Bateson to that gentleman?

(1) Grandfather

(2) Uncle

(3) Son

(4) Brother

A person walks 9 km to the South. From there he walks 5 km
to the North. After this he walks 3 km to the West. In which
direction and how far 1s he now from the starting point?

(1) 4 km South

(2) 4 km North

(3) 5 km North West

(4) 5 km South West

A series 1s given, with one term missing. Choose the correct
alternative from the given ones that will complete the series.
CAT, DBT, ECT, ?

(1) DCT

(2) FDT

3) FLT
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(4) FAT

In this question, select the related letters from the given

alternatives.
M N O
AC AD "AE

P
AF

Q
€l SR

P
@ n

R
&) 15

.7

(1)

In a row of people Manu is 7" from bottom end of row. Shrey
is 10 ranks above Manu. If Shrey is 8" from top, then how
many people are there in this row?

(1) 25

(2) 26

(3) 24

(4) 23
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Find the missing number.
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(1) 37
(2) 45
(3) 47
4) 57

Out of 100 families 1in the neighbourhood, 50 have radios, 75
have TVs and 25 have VCRs. Only 10 families have all three
and each VCR owner also has a TV. If some families have
radio only, how many have only TV?

(1) 30

(2) 35

(3) 40

(4) 45

A group of friends are sitting in an arrangement one each at the
corner of an octagon. All are facing the centre. Mahima 1s

sitting diagonally opposite Rama, who 1s on Sushma's right.

JIPMER | -
colle?g(’é?lunlaa

India’s largest Student Review Platform

T



Ravi 1s next to Sushma and opposite Girdhar, who 1s on
Chandra's left. Savitri 1s not on mahima's right but opposite
Shalini. Who 1s on Shalini's right

(1) Rawi

(2) Mahima

(3) Girdhar

(4) Rama
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